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PART-I
CHILD DEVELOPMENT AND PEDAGOGY

Directions: Answer the following questions by selection the most appropriate option.

Q1. Assessment for learning

(a) is done for the purpose of segregation and ranking
(b) emphasises the overall importance of grades

(c) is an exclusive and a per se assessment activity

(d) fosters motivation

Q2. The knowledge of Individual Differences helps teachers in

(a) accepting and attributing the failure of students to their individual differences

(b) making their presentation style uniform to benefit all students equally

(c) assessing the individual needs of all students and teaching them accordingly

(d) understanding the futility of working hard with backward students as they can never be at par with
the class

Q3. Which one of the following may be the criteria of gender'parityina society?

(a) Equal number of distinctions achieved by boys and girls in Class 12

(b) Comparison of number of boys and girls who survive up to Class 12

(c) Whether the girl students are allowed to participate in competitions organised outside the school
(d) Comparison of number of male and female teachers in school

Q4. Which of the following is a process in the social observational learning theory of Bandura?
(a) Retention

(b) Repetition

(c) Recapitulation

(d) Reflection

Q5. Reducing the time allotted to complete an assignment to make it coincide with time of attention and
increasing this time in a phased manner will be best suited to deal with which of the following disorders?
(a) Dysphasia

(b) Sensory integration disorder

(c) Attention deficit hyperactivity disorder

(d) Disruptive behaviour disorder
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Q6. Students in a class are asked to assemble various artefacts of their work in a notebook, to
demonstrate what they can do for their society. What kind of activity is this?

(a) Anecdotal records

(b) Problem solving assessment

(c) Portfolio assessment

(d) Essay type assessment

Q7. Learners cannot learn unless

(a) they know that the material being taught will be tested in the near future

(b) they are prepared to learn

(c) they are asked about their learning in schools by their parents at home on a daily basis
(d) they are taught according to the needs of social aims of education

Q8. By placing students in the least restricted school environment, the school

(a) normalizes the lives of children from deprived groups who were increasing the linkage of school with
the parents and communities of these children

(b) gets disadvantaged children’s involvement in activities such as science fairs and quizzes

(c) sensitizes other children not to bully or to put the disadvantaged children down

(d) equalizes the educational opportunities for girls and disadvantaged groups

Q9. Psychosocial theory emphasizes on which of the following?
(a) Phallic and Latency stages

(b) Industry versus Inferiority stage

(c) Operant Conditioning

(d) Stimuli and Response

Q10. Theory of social learning emphasizes on which of the following factors?
(a) Nurture

(b) Adaptation

(c) Emendation

(d) Nature

Q11. Developmental perspective of teaching demands teachers to

(a) adapt instructional strategies based on the knowledge of developmental factors
(b) treat children in different developmental stages in an equitable manner

(c) provide learning that results in the development of only the cognitive domain
(d) be strict disciplinarians as children experiment quite frequently

Q12. School Based Assessments

(a) offer less control to the students over what will be assessed
(b) improve learning by providing a constructive feedback

(c) encourage teaching to the test as they involve frequent testing
(d) focus on exam techniques rather than outcomes
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Q13. Retrieving hidden objects is an evidence that infants have begun to master which of the following
cognitive functions?

(a) Object-permanence

(b) Problem-solving

(c) Experimentation

(d) Intentional behaviour

Q14. Rajesh is struggling to solve a problem of Mathematics completely. The inner force compelling him
to search for a way to solve it completely, is known as

(a) Personality trait

(b) Emotion

(c) Perception

(d) Motive

Q15. Which of the following facts has been least discussed in the psychology of emotion?
(a) Emotions may not only occur within individual students, but also within the entire class
(b) Emotions are a complex pattern of arousal and cognitive interpretation

(c) Emotional process involves physiological as well as psychological reactions

(d) Emotion is a subjective feeling and varies from person to person

Q16. Which of the following is properly sequenced in the context of motivation cycle?
(a) Drive, Need, Arousal, Goal-directed behaviour;, Achievement, Reduction of arousal
(b) Need, Goal-directed behaviour, Drive, Arousal, Achievement, Reduction of arousal
(c) Need, Drive, Arousal, Goal-directed behaviour, Achievement, Reduction of arousal
(d) Arousal, Drive, Need, Achievement, Goal-directed behaviour, Reduction of arousal

Q17. The factor ‘g’ in the Spearman definition of intelligence stands for
(a) generative intelligence

(b) general intelligence

(c) global intelligence

(d) genetic intelligence

Q18. Progressive education is associated with which of the following statements?
(a) Knowledge is generated through direct experience and collaboration.

(b) Learning proceeds in a straight way with factual gathering and skill mastery.
(c) Examination is norm-referenced and external.

(d) Teachers are the originators of information and authority.

Q19. As a teacher you firmly believe in ‘saying no to ragging and bullying’ and put up posters and form
committees in schools. The young adolescents who join you with strong beliefs, are at which of the
following stages?

(a) The pre-conventional level

(b) The post-conventional level

(c) Social order maintaining level

(d) The conventional level
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Q20. In context of ‘theory of multiple intelligences’, which one of the following intelligences is required
for an airforce pilot?

(a) Linguistic

(b) Kinesthetic

(c) Intrapersonal

(d) Interpersonal

Q21. The fact that children require culturally relevant knowledge and skills is attributed to
(a) B. F. Skinner

(b) Urie Bronfenbrenner

(c) Lev Vygotsky

(d) Charles Darwin

Q22. Emotional intelligence may be associated with which domain of theory of Multiple Intelligence?
(a) Naturalist intelligence

(b) Visual-spatial intelligence

(c) Existential intelligence

(d) Intrapersonal and interpersonal intelligences

Q23. For gifted students,

(a) there is no need to monitor progress

(b) the teacher should adapt as the student changes

(c) the teacher should initiate and lead problem solving
(d) it is safe to consider aptitude as a skill

Q24. Which of the following approaches suggests.interactionsof the.child with the people around him and
with social institutions to deal with disruptive behaviour disorder?

(a) Ecological

(b) Biological

(c) Behavioural

(d) Psychodynamic

Q25. The best way to increase the chances of learning disabled students to lead a full and productive life,
is by

(a) maintaining a high expectation from such students

(b) teaching a variety of skills and strategies that can be applied across a range of contexts

(c) encouraging these children to define their own goals

(d) focusing on weaknesses of such students

Q26. Which of the following is the most appropriate method to monitor the progress of children with
learning disabilities?

(a) Anecdotal records

(b) Behaviour-rating scale

(c) Structured behavioural observation

(d) Case-study
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Q27. Renzulli is known for his definition of giftedness.
(a) four-level

(b) three-circle

(c) three-sided

(d) four-tiered

Q28. A Class VII student makes errors in Mathematics. As a teacher you would

(a) allow the student to use calculator

(b) ask the student to use alternative method or redo it to find out errors on his/her own
(c) show the student where the errors were made and ask the student to redo it

(d) provide the student the correct answer

Q29. To explain predict, and/or control phenomena are the goals of
(a) Inductive reasoning

(b) Deductive reasoning

(c) The scientific method

(d) Traditional reasoning

Q30. According to Socio-cultural theory of Vygotsky

(a) the child thinks in different domains and does not take a complete perspective
(b) children think in abstract terms if presented abstract material at a lower age
(c) self-directed speech is the lowest stage of the scaffold

(d) culture and language play a crucial role in development

PART-II
MATHEMATICS AND SCIENCE

Directions: Answer the following questions by selecting the most appropriate option.

Q31. “It is more useful to known how to mathematise than to know a lot of Mathematics.” This statement
is given by

(a) George Polya

(b) Van Hiele

(c) Vygotsky

(d) David Wheeler

Q32. Four times the area of the curved surface of a cylinder is equal to 6 times the sum of the areas of its
bases. If its height is 12 cm, then its volume, in cm3, is

(a) 384rm

(b) 5461

(c) 768m

(d) 48w
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Q33. If one angle of a triangle is 130°, then the angle between the bisectors of the other two angles is
(a) 115°

(b) 130°

(c) 155°

(d) 65°

Q34. What should be subtracted from _75 to get —1?

(@)~

2
(b) 2

—4
(c)—

-2
CIE=

-11 7 17 -3 . . .
Q35. Numbers —,—,—— and — are written in descending order as
20 " —=15"-30 10

-3 7 -11 17
(@7 > > 55 > 5

10 -15 20 -30

-3 -11 7 17
M=>—>—>—

10 20 -15 -30

-11 17 3 7
€2 >0~ 8

17 -11 -3 7
d—=>—=>—=>—

-30 20 10 —-15

Q36. As per NCF 2005, one main goal of Mathématics education in schools is to
(a) enhance problem solving skills

(b) nurture analytical ability

(c) mathematise the child’s thought process

(d) develop numeracy skills

Q37. With the help of ‘Geogebra’ software, students can learn all concepts of geometry through
(a) inquiry-based approach

(b) project-based approach

(c) lecture-based approach

(d) exploratory approach

Q38. As per the vision statement of NCF 2005, School Mathematics does not takes place in a situation,
where children

(a) see Mathematics as a part of their daily life experience

(b) pose and solve meaningful problems

(c) memorise formulae and algorithms

(d) learn to enjoy Mathematics
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Q39. A teacher asked the students to “find the number of possible pentominoes using 5 squares and then
further explore the number of possible hexaminoes and so on.” These types of activities help the child to
(a) identify relation between number pattern and shapes

(b) improve spatial ability

(c) improve analytical ability

(d) improve the observation skills

Q40. The twin premises to fix the place of Mathematics teaching in our school curriculum are

(a) “how to improve the reasoning ability of every student” and “how to enhance his spatial ability.”

(b) “how to raise the performance of every student in Mathematics” and “how to prepare meritorious
students for international Olympiads.”

(c) “how to make the Mathematics class more activity-oriented” and “how to enhance the procedural
skills and understanding of algorithms in every student.”

(d) “how to engage the mind of every student” and “how to strengthen the student’s resources.”

Q41. One of the major reasons for student’s failure in Mathematics at school level is that our assessment
process

(a) is gender biased and asks problems relevant to boys’ interests

(b) is more subjective in nature and less or no objective type of questions are included

(c) gives more weightage to formative assessment than summative assessment

(d) emphasizes on testing of procedural knowledge thanmathematisation of abilities

Q42. The sum of all interior angles of a polygon is'1440°. The number of sides of the polygon is
(@9

(b) 10

(c)12

(d)8

Q43. The area of a square is % of the area of a circle. The ratio of the side of the square to the diameter of

the circle is
(@2:1
b)m:1

() V2m:1
(d)3:1

Q44. If x is an integer, then (x + 1)* — (x — 1)* is always divisible by
(a) 8

(b) 9

(c)12

(d)6
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Q45. In standard form, the number 829030000 is expressed as kx10™. The value of k + n is
(a) 16.2903

(b) 15.2903

(c)91.903

(d) 90.903

Q46. If a, b and c are different integers such that a < b < ¢ < 0, then which of the following statements is
true?

(a) ab<c

(b)a+b>c

(c) ac>ab

(d)a+c<b

Q47.LCM of two prime numbers x and y, (x > y), is 161. The value of 3y - x is
(a) -2

(b) -5

(c) 62

(d) 2

Q48.1fa= \/(2013)2 + 2013 + 2014, then the value of a is
(a) 1007
(b) 2013
(c) 2014
(d) 1002

Q49. The value of Y500 x /16 is
(a) 20
(b) 25
(c)18
(d) 16

Q50. What is the probability that a randomly selected factor from positive factors of 72 is less than 117
@5
(b) 1
0+

(d) =

Q51. If a, b and c are respectively the number of faces, edges and vertices of a pentagonal pyramid, then
. 2
the value of (a A C) —2is
2
(a) 2
(b) 1.75

(c)-1
(d)-1.5
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Q52. The value of a machine depreciates at the rate of 10% per year. It was purchased 3 years ago. If its
present value is Rs. 1,45,800, for how much was it purchased?

(a) Rs. 1,80,000

(b) Rs. 2,00,000

(c) Rs. 2,10,000

(d) Rs.1,75,800

Q53. Cost price of 20 articles is equal to selling price of x articles. If the profit is 25%, then the value of x
is

(a) 16

(b) 18

(c) 25

(d) 15

Q54. The base of an isosceles AABC is 48 cm and its area is 168 cm?. The length of one of its equal sides is
(a) 15cm

(b) 17 cm

(c)25cm

(d) 8 cm

Q55. The hundreds digit of a three-digit number is 7 more than the units digit. The digits of the number
are reversed, and the resulting number is subtracted from the original three-digit number. The units digit
of the final number so obtained is

(@1

(b) 2

(c)3

(d)o

Q56. Rani, who is y years old at present, is x years older than Hamid. Fifteen years ago, Hamid'’s age was i

of the age of Rani. Which of the following is true?

(a) 2y -x=15
4 =1
(b);—15—4
(c) 3x -4y =45
(d) 3y - 4x =45

Q57. A teacher asked the students to collect leaves and to identify symmetry patterns. This task reflects
the teacher’s efforts to

(a) introduce an intradisciplinary approach

(b) enhance creativity amongst students

(c) improve mathematical communication

(d) relate real life experience with mathematical concepts
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Q58. Anil is able to answer all questions orally, but commits mistakes while writing the solutions of
problems. The best remedial strategy to remove errors in his writing is

(a) calling him out to solve a problem on the blackboard

(b) providing him with a worksheet with partially solved problems to complete the missing gaps

(c) giving him practice test after school hours, continuously for one month

(d) giving him an assignment of 10 problems every day

Q59. As per NCF 2005, Mathematics curriculum is ambitious, coherent and teaches important
Mathematics. Here ‘ambitious’ refers to

(a) seek higher aims of teaching Mathematics in school

(b) teach more than one way of solving problems of Mathematics

(c) teach variety of Mathematics like arithmetic, algebra, geometry and data handling

(d) seek narrow aims of teaching Mathematics in school

Q60. A has 20% more money than B, and C has 20% less money than B. What percent more money does
A have than C?

(a) 50

(b)17

(c) 43

(d) 30

Q61. A student puts a drop of dilute solution of sodium hydroxide first on a blue litmus paper and then
on a red litmus paper. He would observe that

(a) there is no change in the blue litmus paper‘and thered litmus paper turns blue

(b) there is no change in the red litmus paper and the blue litmus paper turns red

(c) the blue litmus paper turns colourless and there is no change in the red litmus paper

(d) the blue litmus paper turns red and the red litmus paper turns blue

Q62. You have phenolphthalein solution in three test tubes A, B and C. On putting 2-3 drops of dilute
hydrochloric acid in A, a solution of sodium hydroxide in B and distilled water in C, if you immediately
observe the colour of the solution in each test tube, you will find that the solution in test tube

(a) Ais pink, in B pale green and in C colourless

(b) A is colourless, in B colourless and in C pink

(c) Ais pale green, in B pink and in C pink

(d) Ais colourless, in B pink and in C colourless

Q63. Good science education should be ‘true to the child’, implies that science we teach should
(a) convey significant aspects of science content

(b) be understandable to the child

(c) engage the child in learning process skills

(d) related to the environment of the child
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Q64. Vandana is interested to focus more on acquisition of process skills of science by students of Class
VIII. Which of the following combination of methods should she prefer to teach the topic on ‘Micro-
organisms?

(a) Project-cum-laboratory method

(b) Home assignment-cum-science quiz method

(c) Home assignment-cum-questioning method

(d) Assignment-cum-questioning method

Q65. While teaching correct method of measuring volume of a solid using a measuring cylinder, Kavita
mentions the following steps (not in correct sequence) to be followed:

A. Note the reading of level of water in the cylinder.

B. Suspend the solid with a thread inside water in the cylinder.

C. Record the least count of the measuring cylinder.

D. Put sufficient water in the cylinder and note the reading.

Which one of the following is the correct sequence of steps for the said purpose?
(a)c,b,d,a

(b)c,d, b, a

(c)d,b,ca

(d)ab,cd

Q66. The reason of sea breeze is

(a) During the day, the sea water gets heated faster than the land
(b) At night, the land cools down more slowly than the sea water
(c) At night, the sea water cools down more slowly than the land
(d) During the day, the land gets heated faster than the sea water

Q67. National Curriculum Framework, 2005 recommends that science education at upper primary stage
should focus on

(a) helping students to acquire international standards in learning of science

(b) minimising social disparities in the students

(c) promoting human values and knowledge base for peaceful society

(d) helping students to connect classroom learning to life outside the school

Q68. The topic ‘Separation of Substances’ in Class VI can be taught most effectively by
(a) using hands on activities to be performed by students

(b) using good home assignments

(c) organizing more group discussions on different sub-topics

(d) in depth explanation of related concepts

Q69. Which one of the following is the key expectation from teaching and learning of science at upper
primary stage?

(a) To create literary literacy

(b) To appreciate the inter-relationship between science and art

(c) To acquire academic excellence for competitive examinations

(d) To acquire questioning and inquiring skills
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Q70. The normal temperature of human body on the Celsius scale and Fahrenheit scales is respectively
(a) 37°F and 98.6°C
(b) 37°C and 96.8°F
(c) 37°F and 96.8°C
(d) 37°C and 98.6°F

Q71. Select the group of poor conductors of heat from the following:
(a) Wool, wood, iron

(b) Water, copper, wood

(c) Air, aluminium, wool

(d) Air, water, plastic

Q72. ‘Cognitive validity’ of science curriculum at upper primary stage implies that it should
(a) be age appropriate

(b) use appropriate pedagogical processes in teaching

(c) enable the child to view science as a social enterprise

(d) convey significant and scientifically correct facts

Q73. The ratio between the lengths of small intestine and large intestine in the human body is
(@)5:1
(b)1:5
(c)1:8
(d)8:1

Q74. An animal pops out its stomach through its mouth to eat the soft material of those animals which
are covered by hard shells of calcium carbonate. After opening the shell and eating the soft material the
stomach goes back into the body of the animal to slowly digest the food. The name of this animal is

(a) Octopus

(b) Tortoise

(c) Starfish

(d) Crocodile

Q75. Study the following table:

Group | Parts of stamen Parts of pistil

A Anther, filament Ovary, stigma, style

B Anther, petal Anther, sepal, stigma

C Stigma, filament Style, stigma, sepal

D Style, ovary Anther, filament, ovary

The group in which the parts of stamen and parts of pistil are correctly shown is
(a) B
(b) C
(0D
(d)A
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Q76. The image of a distant coloured object formed in a pinhole camera is always
(a) Real, erect, coloured and diminished

(b) Real, inverted, black and white and diminished

(c) Real, inverted, coloured and diminished

(d) Virtual, erect, coloured and diminished

Q77. The term ‘constructivism’ in relation to science education means that children should be
(a) actively involved in the process of learning science

(b) discouraged to raise questions in the classroom

(c) given latest information on scientific developments

(d) given complete information about science

Q78. While teaching the topic on ‘Motion and Time’ to class VII students, Savita gave examples of
different kinds of motion to the students. Which one of the following examples was quoted by her
incorrectly?

(a) Motion of a boy sitting in a merry-go-round

(b) Motion of the hammer of an electric bell

(c) Motion of a cricket ball hit by a batsman

(d) Motion of a boy sitting in a moving car in relation to the car

Q79. Anjali asks the following tasks to be performed by students of Class VII while making an
electromagnet (not in correct sequence):

(A) Place some pins near the end of a nail

(B) Switch on the current and observe what happens

(C) Wind a copper wire tightly around an iron nail

(D) Connect free ends of the wire to the terminals'of a eell

Which one of the following is the correct sequence of tasks to be performed to achieve the desired result?
C,db,a

(a) c,d,a,b

(b) c,a,b,d

(c)d,c,ab

(d) a,b,cd

Q80. If you carefully dig a grass plant and observe its roots and leaves you will find that it has
(a) taproots and reticulate venation

(b) fibrous roots and reticulate venation

(c) fibrous roots and parallel venation

(d) taproots and parallel venation

Q81. The metamorphosis of tadpoles is not possible if the water in which they are growing does not
contain sufficient

(a) Oxygen

(b) Iodine

(c) Minerals

(d) Calcium
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Q82. In which of the following units is the calorific value of fuels generally expressed?
(a) Kilocalories per kilogram

(b) Joules

(c) Kilojoules per kilogram

(d) Calories per gram

Q83. Cereals such as wheat and gram are grown in an area. The soil of this area must be
(a) clayey

(b) both sandy and clayey

(c) both clayey and loamy

(d) both loamy and sandy

Q84. If we add a handful of garden soil to a beaker filled three-quarters with water, stir the contents with
a stick to dissolve the soil and then let it stand undisturbed for some time, we observe different layers.
The order of these layers from the bottom to the top is

(a) Sand, gravel, clay, water, humus

(b) Clay, sand, gravel, humus, water

(c) Gravel, sand, clay, water, humus

(d) Gravel, clay, sand, humus, water

Q85. Which of the following endocrine glands secretes sugar controlling hormone?
(a) Pancreas

(b) Pituitary

(c) Thyroid

(d) Adrenal

Q86. Air is a mixture of many gases. The percentage by volume, of the gases other than nitrogen and
oxygen i.e., CO,, methane, argon, ozone and water vapour combined together is about

(@) 1%

(b) 21%

(c) 78%

(d) 0.1%

Q87. Which of the following commonly used fuels has maximum calorific value?
(a) Diesel

(b) Liquefied Petroleum Gas (LPG)

(c) Petrol

(d) Compressed Natural Gas (CNG)

Q88. A person is suffering from a disease named ‘Goitre’. Which of the following glands of the person is
not functioning properly?

(a) Pancreas

(b) Pituitary

(c) Thyroid

(d) Adrenal
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Q89. Select the one which is different from the others in the manner it is applied:
(a) Frictional force

(b) Gravitational force

(c) Magnetic force

(d) Electrostatic force

Q90. When a copper plate is exposed to moist air for long, it acquires a dull green coating. The green
material is

(a) a mixture of copper hydroxide and copper sulphate

(b) a mixture of copper carbonate and copper sulphate

(c) a mixture of copper carbonate and copper hydroxide

(d) copper sulphate

Part-111
SOCIAL STUDIES / SOCIAL SCIENCE

Directions: Answer the following questions by selecting the most appropriate option.

Q31. Barometer is used to

(a) measure temperature

(b) measure atmospheric pressure
(c) measure sea level

(d) measure rainfall

Q32. Which of the following is a popular eco-friendly automobile fuel?
(a) PNG
(b) LPG
(c) KG-6
(d) CNG

Q33. Which of the following is true with regard to food security?

(a) Government imposes ban on grains exports for maintaining sufficient stock

(b) Government encourages to produce organic foods for better and secure health

(c) Food security exists when all people, at all time have access to sufficient, safe and nutritious food.
(d) Food security exists when government maintains buffer stock of grains for next five years

Q34. Which industry is often called backbone of modern industries?
(a) Energy

(b) Transport

(c) Steel

(d) Petroleum

Q35. ‘Gompas’ found in Ladakh are
(a) Variety of goat

(b) Variety of shawl

(c) Buddhist monks

(d) Buddhist monasteries/temples
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Q36. Which continent is least populated in the world?
(a) Australia

(b) South America

(c) Africa

(d) Europe

Q37. The Kolkata port is situated on/in the
(a) Bay of Bengal

(b) River Hooghly

(c) River Bhagirathi

(d) Ganga Sagar

Q38. Which of the following statements regarding position of the Earth is true?

(a) The axis of the Earth is a definite line that makes an angle of 23 1; with its orbital plane
(b) The axis of the Earth is an imaginary line that makes an angle of 661?°With its orbital plane
(c) The axis of the Earth is an imaginary line that makes an angle of 23 1; with its orbital plane

(d) The axis of the Earth is a definite line that makes an angle of 661?°With its orbital plane

Q39. Rigveda was originally composed in
(a) Sanskrit

(b) Brahmi

(c) Shauraseni

(d) Prakrit

Q40. Bharata was a group of people mentioned in the Rigveda. They lived in
(a) North India

(b) West India

(c) North-West India

(d) South India

Q41. In organic farming

(a) genetic modification is done to increase yield

(b) natural manures and pesticides are used

(c) only production of cotton has been allowed in India
(d) chemical fertilizers are used to increase yield

Q42. Which of the following areas was known as Magadh in the ancient period?
(a) Between Ganga and Yamuna

(b) North of Ganga

(c) Between Yamuna and Chambal

(d) South of Ganga
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Q43. In some areas people started living in villages about 8000 years ago. Which of the following were
among these areas?

(a) Sulaiman and Kirthar hills

(b) Ganga and Yamuna doab

(c) Deccan and Konkan

(d) Areas around Narmada

Q44. Which of the following is not a Harappan site?
(a) Sotkakoh

(b) Ganweriwala

(c) Chirand

(d) Rakhigrahi

Q45. Which period is the longest in the human history?
(a) Megalithic age

(b) Mesolithic age

(c) Neolithic age

(d) Palaeolithic age

Q46. Ancient Rock Paintings have been found in
(a) Tamil Nadu and Andhra Pradesh

(b) Andhra Pradesh and Odisha

(c) Madhya Pradesh and Uttar Pradesh

(d) Karnataka and Tamil Nadu

Q47. Which of the following was not a reason for hunter-gatherers to move from place to place?
(a) To follow movement of animals which they hunted

(b) To fight for resources with another group of hunter-gatherers

(c) To search for water resources

(d) Staying at one place would deplete resources

Q48. Puruy, Yadu and Bharata are mentioned in Vedas as
(a) Rashtras

(b) Rajanyas

(c) Dasyus

(d) Janas

Q49. The diagram represents

17 | www.teachersadda.com | www.sscadda.com www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

(a) Convectional Rainfall
(b) Cyclonic Rainfall

(c) Pre-monsoon Rainfall
(d) Orographic Rainfall

Q50. Which of the following is an example of desert?
(a) Sundarban

(b) Konkan

(c) Western Ghats

(d) Ladakh

Q51. In which ways did World War [ alter the economic and political situation in India?
(a) Common people got benefited as there was a sharp fall in prices

(b) Many princely states rebelled against British rule

(c) Indian industries expanded as war created a demand for industrial goods

(d) Political activities of the Indian National Congress were banned for six years

Q52. ‘Campos’ found in Brazil is a
(a) tropical grassland

(b) traditional dance

(c) tropical animal

(d) tribe

Q53. Lakshadweep Islands are located in the
(a) Arabian Sea

(b) Bay of Bengal

(c) South China Sea

(d) Indian Ocean

Q54. The circle of illumination is the

(a) circle that divides the day from night on the globe

(b) position of the Earth on equinox when day and night are equal

(c) position of the Sun on a particular meridian at 12:00 o’clock in noon
(d) circle that divides the globe into two parts

Q55. Who has written that Raziya was more able and qualified than her brothers?
(a) Badayuni

(b) Minhaj-Siraj

(c) ZiyauddinBarani

(d) Al-Biruni

Q56. Dantidurga, who performed a ritual called hiranya-garbha was
(a) Pratihara chief

(b) Rashtrakuta chief

(c) Pallava Chief

(d) Chola King
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Q57. Conventionally direction marked represents

C
A
A< >B
W
D
Cardinal directions
(a) South
(b) East
(c) West
(d) North

Q58. In which revenue settlement during the East India Company’s rule, was the village headman made
responsible to collect revenue and pay it to the Company?

(a) Permanent Settlement

(b) Ryotwari Settlement

(c) Mahalwari Settlement

(d) Zamindari Settlement

Q59. In an inscription, a Delhi Sultan is said to have been chosen by the God because he had the qualities
like Moses and Solomon. Who was that Delhi Sultan?

(a) Firoz Shah Tughlaq

(b) Balban

(c) AlauddinKhilji

(d) Sikandar Lodi

Q60. Shafii and Hanafi are

(a) Places in Saudi Arabia

(b) Islamic schools of law

(c) Two Islamic rulers

(d) Islamic architecture styles

Q61. “To Understand the importance of knowledge and wisdom of peers’ - is valued in which
perspective?

(a) Emotive

(b) Behaviourist

(c) Constructivist

(d) Cognitive

Q62. To show the change in rainfall in a particular region in a decade, which of the following would be a
suitable teaching aid?

(a) Bar-diagram

(b) Frequency polygon

(c) Venn diagram

(d) Flow chart
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Q63. The process of deriving inferences from observable facts is called as
(a) Exposition

(b) Deduction

(c) Brainstorming

(d) Analysis

Q64. Which of the following descriptions of a learner’s behaviour could be used to assess attitudes and
values in a social Science classroom?

(a) Insisting to work alone

(b) Feeling free to ask questions

(c) Getting good grades in academics

(d) Accepting all the ideas of the teachers

Q65. During teacher-education, Micro-teaching refers to which of the following?
(a) Teaching a miniature classroom with peers role-playing as students

(b) Teaching students in small groups

(c) Teaching a small chunk of content at a time

(d) Teaching by observing the teacher-educator minutely

Q66. Diagnostic and remedial teaching in a Social Science classroom will involve
(a) providing a lot of material to read

(b) providing a lot of opportunity for discussion

(c) correcting the errors of students instantly

(d) recognition of specific difficulty of the student

Q67. Studying the life-history of a village community to understand the education of the young ones in an
example of which kind of data?

(a) Narrative data

(b) Clinical case-study data

(c) Primary data

(d) Secondary data

Q68. Which of the following is an essential quality of creative thinking?
(a) Generative

(b) Reflective

(c) Deductive

(d) Convergent

Q69. A method used in a Social Science classroom in which learners are asked to evaluate one another’s
likeability is called as

(a) Sociometric techniques

(b) Case study

(c) Psychometric techniques

(d) Self-assessment
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Q70. In Social Science, the recent NCF position paper on examination reforms emphasises
(a) continuous assessment

(b) test performance

(c) fiexible sitting arrangement while testing

(d) open book exams

Q71. Which of the following statements is correct about Social Science?

(a) Social Science emphasises homogeneity and rituals

(b) Social Science is a subjectivist discipline

(c) Social Science lays the foundation for an analytical and creative mindset
(d) Social Science is not concerned with diverse concerns of society

Q72. The wheel diagram shown typical employment opportunities to labourers in rural areas. For how
long are they unable to get regular job?

Dec Jan

Harvesting
Oct
Weeding

July Jun

(a) Four months
(b) Five months
(c) Six months
(d) Three months

Q73. Which of the following would you recommend for peer learning in your classroom?
(a) Computer-aided learning

(b) Participation in routine activities only

(c) Visit to research laboratories

(d) Drama

Q74. In order to understand the role of various issues during an election, which of the following would
you most likely ask your students?

(a) Analyze each part’s priorities and the types of policies it is most likely to support

(b) Conduct survey in your locality for the popularity of political parties

(c) Analyze and compare the time devoted by National news channels to different parties

(d) Analyze newspaper editorials regarding arguments against each other by political parties
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Q75. Federalism refers to

(a) Federation of States to run the country

(b) only the Central Government has the right to makes laws

(c) Judiciary is the highest authority in the country

(d) existence of more than one level of government in the country

Q76. According to the Constitution, how many organs the State are there?
(a) Three

(b) Four

(c) Five

(d) Two

Q77. What is Zulu?

(a) A language of South Africa

(b) National animal of South Africa
(c) A traditional dance of South Africa
(d) A tribe of South Africa

Q78. The apostle of Christ, St. Thomas is believed to have come in
(a) Karnataka

(b) Tamil Nadu

(c) Kerala

(d) Goa

Q79. Which of the following is an aspect of progressivereducation insa Social Science classroom?
(a) Functional intelligence

(b) Emphasis on scoring in examination

(c) Respect for plurality and multiplicity

(d) Segregation of learners

Q80. When a teacher uses individual experiences in order to explain concepts in a Social Science class,
then s/he is

(a) channelizing the energies of students

(b) promoting the ability to relate their local reality with the global context

(c) take care of the linguistic and cultural diversity among learners

(d) making the lesson engaging

Q81. If a politician in one state decides to not allow labourers from other states to work in his state,
which Fundamental Right will be violated?

(a) Right to freedom

(b) Right against exploitation

(c) Right to constitutional remedies

(d) Right to equality

22 | www.teachersadda.com | www.sscadda.com www.bankersadda.com www.adda247.com



http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q82. Which of the following constitutes the cultural capital of a student?
(a) Electronic equipments available for use by a student

(b) Educational background of the family

(c) Number of places that a student has visited

(d) Monetary and financial resources

Q83. The Mid-day Meal Programmeis said to have many positive effects. Which one of the following is not
one of them?

(a) Caste prejudices have been reduced

(b) Poor students can now concentrate on their studies as they do not have empty stomachs

(c) Poor children are getting high marks in examinations

(d) Enrolment of poor children in schools has increased

Q84. The Parliament in our system has immense power because
(a) it has the power to overrule judiciary

(b) it is the representative of the people

(c) all powers are vested with the Parliament

(d) is has the power to make laws

Q85. The RajyaSabha can have at most
(a) 235 members
(b) 245 members
(c) 260 members
(d) 225 members

Q86. Which of the following will promote a social learning of rules, regulations and values?
(a) Group discussions

(b) Book reading

(c) Writing essays

(d) Project work

Q87. In order to teach about equity, which of the following would be the most suitable method?
(a) Give a project

(b) Assign filed-work around the ideas of poverty and capitalism

(c) Highlight the constitutional provisions to promote equity

(d) Give a lecture

Q88. In the Indian pluralistic society, textbooks of Social Science should
(a) reflect the government’s view

(b) avoid controversial issues

(c) include and represent all religions and social groups

(d) reflect the majority opinion
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Q89. Which of the following teaching methods would be most effective in Social Science, that teachers
must use?

(a) Assign grades liberally

(b) Engage learners in critical and thought provoking activities

(c) Assign home assignments

(d) Ensure that learners have learnt the content by taking repetitive tests

Q90. Function of the executive in Indian democracy is to
(a) implement laws made by the Parliament

(b) elect the Prime Minister

(c) elect the President

(d) enact laws

PART-IV
LANGUAGE-I - ENGLISH

Directions: Answer the following questions by selecting the most appropriate option.

Q91. The ‘question’: How will I achieve my teaching goal? In the design of a language instruction, which
helps the teacher to ‘keep the lesson on target’ is/are to

(a) Methodology

(b) Evaluation

(c) Documentation

(d) Objectives

Q92. Language teachers have to do a ‘needs analysis”of their students to
(a) find out students’ interest in the choice of language

(b) compare the achievement levels among the students

(c) evaluate their existing competence

(d) measure their learning ability

Q93. Combining of movement abilities with academics, such as speaking a language, is referred to as
(a) affective skills

(b) motor-perception skills

(c) interaction skills

(d) cognitive skills

Q94. In this example, there is a deviation from the apparently intended form of an utterance. Identify the
error.

Target: [ must let the cat out of the house.

Error: I must let the house out of the cat.

(a) word-exchange error

(b) omission

(c) substitution

(d) lexical selection error
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Q95. When the teacher quietly observes the students during a collaborative grammar activity, the activity
plays a role.

(a) evaluative

(b) interactive

(c) record keeping

(d) diagnostic

Q96. The focus is on using the language rather than analysis of the language and grammar is taught
implicitly rather than explicitly.

(a) Communicative Approach

(b) Grammar-translation Method

(c) Structural Method

(d) Direct Approach

Q97. Teachers may respond to young writers according to their individual needs. How?
(a) Praise what they do well, making specific comments about the work

(b) Encourage them by overlooking certain errors

(c) Reward students who write well before the whole class

(d) Give them detailed feedback on grammatical errors only

Q98. is the particular way a learner prefers to learn a second or foreign language.
(a) Cognitive process

(b) Behaviourist approach

(c) Literal approach

(d) Cognitive style

Q99. The students are asked to answer inferential questions about information which was implied by the
text. Here, the student’s can be evaluated.

(a) listening and writing skills

(b) reading and listening skills

(c) reading skill

(d) speaking skill

Q100. The benefit of the bilingual approach in a second language classroom is that
(a) students stop using their mother tongue altogether

(b) students understand basic concepts/assumptions more easily

(c) there is less distraction for students in the class

(d) students gain confidence in the mother tongue

Q101. How does computer technology support language learning in Classes V and VI, to enhance
accuracy in student’s writing?

(a) Detailed error feedback

(b) Spelling and grammar checking

(c) Formatting and font designs

(d) Rapid drill work
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Q102. Individualized educational programmes with intensive support to help students to consolidate
their basic knowledge is referred to as

(a) introductory courses

(b) remedial coaching

(c) revision sessions

(d) advanced study programmes

Q103. Students can master complex language structures without being aware of the fact they are doing
so, through

(a) teachers avoiding the teaching of structures altogether

(b) use of grammar games with a focus on relevant structures

(c) more speaking and listening practice with regular feedback

(d) regular, simple grammar practice sessions

Q104. What are some of the features of a good listening task?
(a) Gives clues and supports completion of the task

(b) Inexpensive to administer for a large number of students
(c) Has a variety of tasks to be chosen from by students

(d) Simple and easily completed in a large class

Q105. The ‘acquired system’ or ‘acquisition’ of a language is the
(a) subconscious process of learning

(b) input-output process

(c) self-monitoring of learning

(d) formal skills development

Directions (106-114): Read the given passage and answer the questions that follow by selecting the
most appropriate option.

The first detailed description of plastic surgical procedures is found in the clinical text on Indian surgery,
the Sushruta Samhita which incorporates details of surgical tools and operative techniques. Sushruta
wrote, based on the lectures of his teacher, the famous surgeon king, Devadas. He taught his pupils to try
their knives first on natural as well as artificial objects resembling diseased parts of the body before
undertaking the actual operations. It is interesting to note that modern surgery stresses so much upon
simulation, models and cadaver training before actual performance to increase and improve patient
safety. He stressed on both theoretical and practical training and had famously remarked once: “The
physician who has only the book of knowledge (Sastras) but is unacquainted with the practical methods
of treatment or who knows the practical details of the treatment but from self-confidence, does not study
the books, is unfit to practice his calling.” Sushruta considered surgery to be the most important branch
of all the healing arts, and had performed and described in detail several complicated operations. This
include operations for intestinal obstruction, hernia repairs, bladder stone, but more importantly, several
plastic surgical operations, including those for cleft lip and nose reshaping, which are performed virtually
unchanged even today from his descriptions about 3000 years ago!
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Q106. The paragraph focuses on the

(a) life of Sushruta and his work

(b) India’s contribution to medical science
(c) methods of plastic surgery in India

(d) evolution of medicine in India

Q107. Sushruta’s training consisted of

(a) apprenticeship under a guru

(b) practice on objects similar to human body parts
(c) focusing on non-surgical procedures

(d) acquiring complete theoretical knowledge

Q108. The passage gives us details about

(a) how to become a good surgeon

(b) how surgery can replace other treatments
(c) how patients have to be treated after surgery
(d) how to perform certain types of surgery

Q109. The closest meaning of the word ‘undertaking’ is
(a) taking up

(b) trying out

(c) venturing to

(d) experimenting on

Q110. A word or phrase that can replace ‘virtually unchanged’ in the text is
(a) very well known

(b) factually unaltered

(c) slowly evolving

(d) literally unknown

Q111. An antonym of the word ‘complicated’ is
(a) stressful

(b) unknown

(c) mysterious

(d) facile

Q112. The personal quality which Sushruta warns against is
(a) cowardice

(b) rudeness

(c) ignorance

(d) arrogance

Q113. According to Sushruta, are above all healing arts.
(a) surgery and post-operative care

(b) timely administration of medicine and counselling

(c) study of patient’s condition

(d) observation and counselling
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Q114. The writer’s objective here is to

(a) outline about India’s potential in the medical field
(b) draw attention to Indian traditional knowledge

(c) compare modern and ancient practices

(d) present a short history of ancient surgical practices

Directions (115-120): Read the given poem and answer the questions that follow by selecting the most
appropriate option.

Remnants Left Behind

A leaf detaching

herself from a tree

strong winds howling
catching in a gale

just won't let her be.

A ship sailing on an ocean
being bashed by heavy winds
forcing her to dry land
seeking asylum once again.
Footprints in the sand
leaving behind positive thoughts
until the tide rushes in

and everything is lost.
Remnants of two lovers

once so young, and bold
signatures etched on a heart
Alove story never told.
Heather Burns

Q115. The poet’s message here is about the power of
(a) nature that can create or destroy

(b) the sea over human life

(c) human beings over nature

(d) human love that is permanent

Q116.“.....just won’t let her be ..."” uses as the poetic device.
(a) personification

(b) fallacy

(c) exaggeration

(d) simile

Q117. In the phrase “... seeking asylum”, ‘asylum’ here means
(a) shore

(b) beach

(c) cliff

(d) port
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Q118. “... Footprints in the sand ......” symbolises
(a) brief lives

(b) short memories

(c) patterns on the sand

(d) false images

Q119. The line “Remnants of two lovers ...” suggests to the reader that the lovers
(a) have decided to spend their lives together

(b) are no longer in love with each other

(c) are not separated from each other

(d) had died together at sea

n «

Q120. In “... signatures etched on a ...”, ‘etched’ means
(a) scratched

(b) engraved

(c) cut

(d) chipped
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Q97. T=rter | ohe e  forT ‘arse hewe’ oreq THOTT AT &, FA1Th

(a) TFEH® o ST99T 9% 99 ART TS 6 GTd ¢

(b) FFE % 1@< ¥ 9ga aw T2 o

(c) T T ST|eft 98 T&l 8

(d) PR o 9T 9 96 AT 9%a T 6 F9S Tg49d 8

Q98. 5T F fo=t # art &7 R
(a) =H T SATET AT

(b) FHT-FHT ST AT

(c) ZH T FH o

(d) T SATaT 24T §

Q99. T #¥ T aTa ofi?

(a) & 3 FT TN faeget Tat o7
(b) 9ITH T AT & TS

() 9ITH T SATLLT FH I AT

(d) 9T =T & T AT SATET Aol AT

Q100. =TI F ATHTX T Fid & AT I[F g7
(a) 22 RmFar T qag &
(b) 24 FeavaT &7 a9 |
(c) 24 FRTFaT #T gag &
(d) 22 fRmwae fram T

Q101. o= ¥ rafT =t A= 21 UTE?
(a) 9T AT | S| AT AT

(b) ITY % AT AT

(c) T it rfe & forerer <21 oft

(d) 9T 9= |OAT H A9l AT

Q102. AT F ATLTT IT FHgl ST qHaT g o
(a) TRTET TX FHAT ATER FATT ST &

(b) TRTET 9T SHHa AT HAT FHiod gial o
() TRTET U< THAT I STHT TgdT &

(d) TRTET T S{rae e 8

Q103. ‘TS FUTH ATAT AT & AT &
(a) BT HIT ATAT Tl
(b) BT FaTe aTeft =t
(c) BET FOT ATeAT |q&T
OHEEERIBEIEIKET
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Q104. 'SHE M= ¢
OEERERER

(b) TTET= farereor
() TFEwEaT=® qAATH
CRIEELEEX:EI

Q105. ‘=T F qgaad TT &
(a) =T

(b) =%

(c) =T

(d) =t

R3er: Maforferd wait % 39 3 & forw ge sta AT g

Q106. 3(T: ATF =l HehouAT ey TFE 87
(a) ATSITIHET &

(b) frererta &

(c) BT &

(d) =TFEhT |

Q107. ATHT ¥ FHEAT T Ueh TATALN FeAT T T 48 a97+ g &
(a) TUTT FEAATS T SATHAT T AT SITT

(b) AT YT T 3eT-==7 ATHAT T ITANT AT ST

(c) ITET-TETHI o qTS FH HT QU AT

(d) UTEIFE FT FH F feIT ST

Q108. TZF To7-ATHUT FT I2¢T &

(a) forersr Y TgTIaT & agi &1 ggaT fBEmT
(b) TIA (A & T3 sl TRIAAT T AT HEAT
(c) TeaTi&at T Tgrar & ggaT Haar

(d) 79T ¥ Fawagar w1 R

Q109. FTET-AHAT T [T FLA o HEH H ATTh (7T T ATerH Hgea ol &
(a) AT FAAT T TTM

(b) T, LT T TWAT g2 ATAT T FTAT A forred Afsreai<n

(c) faw gu famgett siw Qe & snam 9% ey o

(d) FraT @ T A¥ATH
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Q110. TZ=<T WTUT & TI-T | T Fohel TATA il T dga A 872
(a) ATA TZTFL ATHT F TFAT T FAT ATH AT?

(b) STET ATLAT FAT IaTH A?

() IITT T ATET FTLAT T ST BId AT AT FHildl?

(d) == ¥ gRaTT FarE)

Q111. FE T WTUT-TFa qfl THSA FTHT SATUIAT ST

(a) a8 TFT &I TTHAIT AT 6l T ATTRET &

(b) a8 FFT T SATHLT & FTAT F TR FOT

(c) T8 TFI & had THF ATged & TR=d FT

(d) 78 agi ® A1 il &L ST TqqTT ATged & T IcwdT a0

Q112. ATHT FT UTSI-TEqhI H fgraia? ATUTeH &l off ST O AR 0 30 F97 F g0 § HIA-A7 T w19
FLT?

(a) THH ATUTTG fafererdr 7 98t 9 | grarfera Bam S a6ar g

(b) ZEE T it T ATITSH v wAT =T ST ' "

(c) =T THr<ToT T T 9T 6T ST Tl &

(d) TEE AT F S g5 el g

Q113. Ffaar-frerwr & Haw | =7 e fovg 7 qai e "gd < 87
(a) FfaT % UF T rfere oF gr T g

(b) wfaar & graTors afEfaat it sees 981 grdr

(c) wfaar & Tror e arefRataay £ s qai grdr

(d) Fferar &1 ue HiEd of grar &

Q114. “ATYT 3T =read ® T¥aee grav g1” Ig FIF
O EURERSE K EI

(b) Tfq: A &

CEREIK]

(d) Tof: &2t &

Q115. ATUT-FALAT H TTET-TEqhT 6 SATATH HIA-8T TIH HH TATAATAT 2
(a) T STETAT

(b) Tf==T FHEAT

() FEAT-TIA FTAT

(d) et % 3= oA

Q116. 7T AUT T Fgd THT FTAT HIGHATHT o TG T TTRT HLAT g ST FAT Her?
(a) IH TIE Toh ag AT ATUT % 9T6&T T TINT 7 FHiL

(b) H FATUN Toh FRHET 9ea-Ta9T T 4T Fgd &

(c) I ATV 3 7 e oA &

(d) &= STHT o 9168 T TART Hd §U HEoTdT § I8 1T Tl gl
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Q117. ‘g AR &I A &I AgTs R@TE|” AT IT FAT Fld F1 3297 &

(a) TGT T TAATH o TART T ATH HLAT

DEELEIRERIERRILEIEIG TG

(c) TFT T ATHT il MIHTZ THIAT &l TgATT ST AT [T HTAT =T
(d) T =T AT & TANT HT AT HAT

Q118. 37 TTHTHH &I IT ATHT-F0e0T F7 IZ9T &

(a) 7ot ¥ ffersr Se=meTett 1 AT AT Fw T

(b) Tsft Afgfcas fAremsit # @ it Feoraar fewtaa wer

() STToT Y ITEVERT ST FieaFare T G0 6T &TqdT FT ST FLA
(d) =TT F AT T FSET FLAT

Q119. sTTuT T FeAT H 7g TEl & T
BEERIRER IR RIS T

(b) TR T F stweme o BFET 7 fig AT grer ST
(c) agt ¥ srfersr-A-srfers Tt < s

(d) ATHT T TST-TEdeRT 9¥ fFe g7 T sy

Q120. STTUT  F¥awel | Fld-H7 FI Tol et 87
(a) TEATIUHAT g T SAEHAT FT /T FAT 2|
(b) ATHTY MIH § FFIh-HATE HLTAT 8l

(c) ATUTTT FAfaedr U a8 2

(d) sTTza s sirfiren farferear ve sifeer S 21

PART-V
LANGUAGE-II - ENGLISH

Directions: Answer the following questions by selecting the most appropriate option.

Q121. Task: A role-play of approximately 2 minutes with the teacher in which the candidate exchange
information making four or five statements and asking three or four questions, including greeting and
leave-taking ... would assess skills.

(a) speaking

(b) listening

(c) vocabulary

(d) acting

Q122. Integrating semantic function as a part of grammar instruction requires students to focus on
(a) building fluency use rather than grammatical correctness

(b) accuracy of grammar use in syntax formation

(c) communication of meaning and accuracy of language

(d) drills for the practice of grammatical structures
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Q123. Smaller class size for slow learners facilitates greater personalized instruction in the new language
because of

(a) disciplined approach, less interaction and formal assessment

(b) more interaction, flexible schedule and authentic assessment

(c) language focused, formal assessment and flexible schedule

(d) incidental learning, informal assessment and more interaction

Q124. The progress of teaching-learning of reading skills of a language over a certain period of time may
be evaluated

(a) assessing students’ interpretation of the text

(b) setting a reading task with a variety of test items

(c) through student’s appreciation of stylistic devices

(d) by asking students to read aloud a set text

Q125. New technology is becoming an integral part of our social fabric. This is reflected in the classroom
when students are

(a) using a whiteboard during a presentation

(b) on frequent field trips for first-hand experience

(c) narrating during PowerPoint presentation

(d) actively searching for answers using computers

Q126. How can you get shy students to speak when they do not want to?
(a) Change the topic to suit the student’s ability

(b) Give a list of words with meanings to learn and use

(c) Conduct special classes to practice speaking

(d) Don’t put pressure on them to come up withra'response quickly

Q127. The ‘sandwich-technique’ is a bilingual method which has a three-phase structure of
(a) drills with levels of difficulty

(b) presentation - practice - production

(c) error correction - re-production (as drill)

(d) listening - writing - repetition

Q128. Formative Assessment of student’s writing skills could be based on
(a) model-making individually

(b) scripting a skit in pairs

(c) a formal written test

(d) group dancing

Q129. Considering learning styles broadens the approaches taken in the management of language-
related problems. Some students prefer to get new information in written directions or verbal
information. Their learning style is

(a) visual

(b) kinesthetic

(c) manipulative

(d) auditory
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Q130. Student-generated corrections are important in language learning because
(a) they indicate active engagement in the learning process

(b) more time can be given to grammar drills before production

(c) teachers can conduct more remedial classes

(d) students revise and edit the errors in their own writing or speech

Q131. The favours the exposure of students to a structure in different contexts that could allow
them to apply the rules by themselves.

(a) inductive method

(b) deductive method

(c) communicative approach

(d) direct method

Q132. The second language course is organized on elements of human society and the natural world,
without relying on printed text. This is called the method.

(a) natural

(b) grammar-translation

(c) language immersion

(d) situational

Q133. A short text is read aloud and then students visualize what the passage describes. Then, they tell
the teacher about their visualization, or draw a'picture. Thefactivity assesses students’

(a) listening comprehension

(b) ability to draw well

(c) accuracy in interpretation

(d) speaking with clarity

Q134. Emphasis on interaction as both the means and the ultimate goal of learning a language underlies
the approach.

(a) silent way

(b) immersion

(c) communicative

(d) comprehension

Q135. The process of second language acquisition is influenced by languages that the learner already
knows. The influence is

(a) systemic errors

(b) language transfer

(c) phonology

(d) inter-language
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Directions (136-144): Read the passage given below and answer the questions that follow by selecting
the most appropriate option.

Archaeology is the scientific study of the human past. It is the means whereby we are able to extend our
knowledge of human history beyond the limits of written records. In India, written history goes back
many millennia; and, throughout the world, inscriptions on stone and clay tablets are only a few
millennia old. Such records encompass only a small fraction of the human story. Archaeology gives us
access to the entire spectrum of human experience, spanning several million years in Africa. This
enormous time depth offers the potential to study long-term cultural processes and the opportunity to
learn the lessons of countless cultures. Recovering this knowledge may prove vital to our own survival.
Even if the lessons learned do not turn out to have such an immediate and practical value, filling in the
blank pages of India’s and the world’s history is an intrinsically worthwhile endeavour. Moreover,
historical archaeology can supplement or clarify the knowledge gleaned from more traditional histories.
Finally, by increasing our understanding and appreciation of the achievements of ancient cultures,
archaeology can provide a significant boost to heritage tourism.

Although I argue that archaeology could save the world - or at least our civilization’s precarious hold on
it, I freely confess that I did not become an archaeologist to save the world, nor to make money. In fact, I
chose to become an archaeologist because [ was fascinated by the wonders of the past and the prospect of
making new discoveries that would shed light on how we came to be what we are seemed to me to be a
noble thing, to which I could dedicate my life’s work.

Q136. The primary purpose of the passage is to
(a) list archaeological sites

(b) present the state of archaeology

(c) present archaeology as a career option

(d) present new excavations

Q137. According to information in the text, “spectrum of human experience” refers to
(a) evidences of human settlement

(b) historical events

(c) geographical feature

(d) lost communities

Q138. Pick out the correct statement based on your understanding,.
(a) Archaeology has no value at all.

(b) All locations are found in remote areas.

(c) The job of an archaeologist is an uninteresting job for anyone.
(d) Society should learn from its past.

Q139. According to the text, which of the following statements is true?
Archaeology

(a) is a subject which is easy to study.

(b) is very difficult to practice, professionally.

(c) gives few clues about cultural development.

(d) offers insight to prevent destruction of human heritage.
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Q140. Based on information, it can be assumed that

(a) archaeology contributes to a better understanding of society
(b) universities do not support the Archaeology Department

(c) archaeology is a profitable business for archaeologists

(d) only the rich can afford to travel to archaeological sites

Q141. It can be inferred that archaeology offers
(a) greater career prospects

(b) no evidence about human evolution

(c) deeper historical insights

(d) an alternative profession

Q142. In the essay, the writer

(a) chose his profession to understand human behaviour

(b) claims archaeology is a very accurate science

(c) discourages potential archaeologists from going too far
(d) refutes historical evidence, as they often contradict finds

Q143. The word/phrase “the blank pages” of India’s and the world’s history means
(a) non-literary works

(b) unrecorded facts

(c) empty pages

(d) oral traditions

Q144. Archaeology is “an intrinsically worthwhile endeavour.” Here ‘intrinsically’ means
(a) uniquely

(b) basically

(c) usually

(d) specially

Directions (145-150): Read the passage given below and answer the questions that follow by selecting
the most appropriate option.

Our ship was about 120 tons burden, carried fourteen men, besides the master, his boy, and myself; we
had on board no large cargo of goods. The same day I went on board we set sail, standing away to the
northward upon our own coast, with design to stretch over for the African coast when we came about ten
or twelve degrees of northern latitude, which, it seems, was the manner of their course in those days. We
had very good weather, all the way upon our own coast, till we came to the height of Cape St. Augustino;
from whence, keeping further off at sea, we lost sight of land. In this course we passed about twelve days’
time, when a violent tornado, or hurricane, took us quite out of our knowledge. It blew in such a terrible
manner, that for twelve days together we could do nothing but drive; nor did any in the ship expect to
save their lives. In this distress we had, besides the terror of the storm, one of our men died of the
calenture, and a man and a boy washed overboard. About the twelfth day, the weather started abating a
little, the master made an observation as well as he could, and found that he was in about eleven degrees
of north latitude, but that he was twenty-two degrees of longitude difference west from Cape St.
Augustino; so that he found he was gotten upon the north part of Brazil. Now he began to consult with me
what course he should take; for the ship was leaky, and very much disabled, and he was for going directly
back to the coast of Brazil.
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Q145. The main theme of the extract is about a
(a) voyage by ship

(b) ship caught in a storm

(c) fishing expedition

(d) storm at sea

Q146. As used in the extract, which is the best definition of ‘design’?
(a) wish

(b) purpose

(c) scheme

(d) disfigure

Q147. Based on information in the passage, it can be inferred that
(a) they were sailing westwards during the storm

(b) they were going to trade in Brazil

(c) they were on an adventure trip

(d) there were two sailors and a master

Q148. They decided to opt for the change of destination because
(a) they had lost their way

(b) the ship was not sea-worthy

(c) the new course was smooth sailing

(d) it was still stormy at sea

Q149. Who was drowned in the storm?
(a) An older passenger

(b) The ship’s captain

(c) The writer himself

(d) A young sailor

Q150. The shipmen had travelled a total of days before touching shore again.

(a) 24
(b) 14
(c) 21
(d) 12

-V

sTT-11 - f3=at
Ader : et ot & ST 37 & o gew stRa e g

Q121. STUT § T AT FT 3297 ¢

(a) T AT o T qTe-5a § AT A §

(b) Tg ST T3 gt T ATuT-aFaeet i SgeAt & arte 7t

(c) T ST T3 Tt e | agi w6 T i 7S AT aeTwar g
(d) =g SIT=AT T g 97T § 97 A8l A\ 8

39 | www.teachersadda.com | www.sscadda.com www.bankersadda.com

www.adda247.com



http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q122.3F TTHTHH TIT IT FGIAT T {AA T 3297 Tl ¢
(a) % ToFE W1 Hay | o1 3 € - 39 I wErm
(b) FETI-oraw &t fafaer afert 7 9= FaeT

() Te==t AT ® forgt 75 aeft wgr=at & afe=g T
(d) |TaT F faterer ST & 9T H

Q123. FTHIOT-TrT0T FiF STTeATHT sga? (ATd g
(a) = fafer

(b) &= fafar

() T&= fafar

(d) s fafer

Q124. STTUT STTFHIT & HATAH F &l HET ATt g1 g o= frew avag 82
(a) AT &

(b) FTETT |

(c) T &

(d) FFz =

Q125. F&T H ife Tqg atara<or & e §

(a) FeIT T AT 9T DT Fwfaar arfe ¥ FEr

(b) FeAT § I AR § AVHTAT o ATE AT

() FeAT § URTE ST Tl (AuT-a%q  AqET ferfad arait T&fevd HgAr
(d) FeAT H GO ATE, TTEEL AT AT

Q126. STTHT 3 ATLTE HIAT H§ FATAL &
(a) TEAT T for@AT

(b) I, TEAT X =T

(c) T, FTAAT, TZAT AT Forg=T

(d) FAAT 3T T

Q127. FeAT ATS T Uk THT ‘AEHT I ALHT AT | THRT AT HILT g
(a) T SHET ATTATHT HT TAH &

(b) FE AT H ATILATST aLqdT &

(C) IH IR IV Z

(d) 3% ST & A1 fooget T5i &

Q128. g9 AHHAT AYAT RN § T T Fg for@dt Tl gl Tah ATIT-TF e o AT STl F4T TiAfehar
LK

(a) FEE I &l HIAT o T @IS HA i AET o, SH HAT (AT 1T

(b) FXEIT I | sl FTAT ! SATHSAh ATEAT §, SR @ I FAT H TaT97q FhAT ST

(C) TG &l FF-T-F, LA i 3MEd &, 39 I AT o il A&d A5l

(d) FTEIT FT &I SATHILN &, SEERT TATS HLAT ATT
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Q129. Tgi T ATITAT &HAT T FHIWH TR o 9T | TqTH H TATTEF Hag wedl g
(a) forfa adier

(b) STaATHT

(c) STt= =t

CIRIEEAER

Q130. Fe4T H 3EET agl & qHTAAA o oI T 7 Fd3r?
(a) TETH F 918 ITH Fls AT AT A5l T

(b) 1+t T & 9T Tz g IHF AU &l [AEATL 9T

(c) st Torfer & |TaalY Iuersd B it TTaeT el

(d) 378 ATIT-TFawefT ST T & T

Q131. F&T Bg o dFI F (1T g, HiAqTAT AT(S haTal T T HLd AT A e a1 7 9O =7 F &7
TE?

(a) FoRaTat & I3 %9 g

(b) ForaTe agT &t AT i ATTUF TELdl & TqeT Bl

(c) Teramant & e = 997 Bt

(d) TeraTel AT Ioeni & 94T Bl

Q132. ATHT HE= § d SATerH AT Bl & T
(a) TFT T TG ATITAT T ST FHLAT AT
(b) ATHT T AT AT Bt

(c) STer fovereh gt g1l €

(d) ITEI-TEAF qRT TETS STt

Q133. fE==T 9TuT it F°eAT & qaH Ag<a ol &
(a) TEYEATE

ORIEZEEIE:EUICIRER Y
CEEIEIRIEIRIEECIEIR TR

(d) ATST-TETH

Q134. 3F YTATHF TqT IT ATUT HTG-TE@TT T 3297 ¢

(a) Tafsrer fRurfaat & A9 AT 7 &1 TN L Al HAGAT T AT

(b) Faf¥rer Rafat & HeraarT AT FT TART FIA Tl FHAAAT HT (ST
(c) TATsre fRafaaT § SATHLOTEFq ATHT T AR HA il HAAT AT (AT
(d) farferer Rafa=t & TaTEt ST &t FHoraar F7 e w1
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Q135. T WTUT il FeAT | THEL AT A9 T T&d gU ToI¥ AT &1 TEHHRT GATIAT HIL0T &
(a) ST ITST-[Fqh AT &

(b) ITH g F T TAF &

(c) Tereres =T foreqor Aew 2

(d) 3T Fa FETHAT T8 FT 9TF &

der: Terter #1 ggEe Auterfea w1 (7.9 136 & 142) # ga@ Sf=a fAwer )

ST T aTa 98 8 T A T e (AT & g | Al savdl off, a9 | 399 gl 9T - ‘AT dir g¥ oy &, g%
TG I @l &l | Fare AT AT HLaT gl 3TH AEHT & FH @I AEHT Th 6 & il GAT ls AT
TT AT gIATl T AT 3T T THRTL FT, FH( 10 Tg FHTH (76 TTHTIOT 3T ATATLT 9 T & H 97 g1’ L
Tg Fefter TaaTT o grar off, o A s 9= § uE S7a o, #=9itE o wao e ot ue ot & oo o T o -
T % oI AT FATE o forw) 39 g AT o) e § I o STeY T A% gl ATaE SET AT § Srae
AR ST AT HT T FHaT gl FTq AT i TATT-T0IT | AT 00 o) T § S, g0 &1 TF Fgret aeav
AT 3T ATAT I T2 FEIAAT o A7 T AT T2 ATT AN T FIS TIFRA, 7 Hls T2t G| Tg T9F 74 forw
IAAT BT A8 AT ST o 2 7 @l foe oft T T3 ST o forew # gt forem % siavia foret T8 qear
e g1 7Y ag e et | ST 981 gf Jehd il

Q136. &@e eI I St & ST T Jg! /AT, #4116
(a) B AT ATEH-ITH ST a@d, HedH Fd 8, I M6 & ¢
(b) FETA=T & I & Sftee i Tl =eATs gl &

(c) TreamTre =7 1o 21 g foiaft it weri=at

(d) BT @ T il it ST Fgrel forear g

Q137. ‘THAIA FT g | Aol AL &l M &
(a) FeATS T T &1 AT FqATAT

(b) TS T ook | T o7

(c) e o faadia gadt Tl Tl

(d) Trer T FHTL T FT T

Q138. @ F @ I FIT GTH 97d 872

(a) T Fa AT 6T FgHl orad &

(b) 3T @T AHT TG o AR 6 (T Hl FaT g
() ST @ @TH AN o ol (o ol gal g

(d) & Fae feremmms & A g

Q139. T=ATET 3 ATITT U< Fgl ST ThaT g T

(a) F@F F AGT HT AT ATST TST 8

(b) @ qg& FHodaTelier 3T oo &

(c) @ TEI il FEIAFT | STeal TATT g1 1 5
(d) =@ =T ‘. AL T g ohdTe q@AT qEE or
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Q140. TE@F HI FgHl (o §
(a) FEAT TE FAT AT E
(b) TET FAHAAT-[E=TZAT T=AT &

(c) FETHT = 9T UT T8 Hgad HAl 98dl g
(d) g FeeTa FrAT T=AT &

Q141. ‘FATEH FT AT G
(a) T T

(b) @TE a1

(c) TATHT

(d) F&T

Q142. ‘T&T FT AT 5
(a) |t

(b) Ff&T

(07

(d) ST

Aer: erter i wpT Msferfea wef (7.8 143 | 150) ¥ a4 3 BFer =i

AT o fawm & o0 sThfas SEmeat 7 T Fwh FOaAt [@iae smasasdharet o i war gl T
THTEAT FT G, G499 Ua HIATAAIEF SURN FFE S amya = Ua 890 92 =497 81 IFfa &
AT UG, ST - &, ST, ST (S [ ST (FoTT o ford 907 TRl FTAT AFa-H17 0 Tz Aqi<h F ah
9rf<h 9% T | AT 0 SITA & [0 aqq AaTd &7 Hed M ISl | agd Tgo ol TgaTd (o3 97l a0
qaq (asTe Zq A il SACHTTHIAT &l T § T@H GHTel & 949 9¢ |7 7| @awmg &1 e4F sitad &
AT ST Tl a< ATHTIS, AT, Afde T seATicns Tq2 &l SaT ISMT 2T AT | T & HEhid i AT
& T ATHTAT GHAT FIT ATRTN T TH ATHTAT ¥ Ih gRIT I SAgre | T07 97 7 918 a47 3= g =
o aTfecT T et it qLaht 7| TH (2 | | T 9a F7 T I g2-5L qF [a@Ts dgi <dTl

Q143. ST 37 & 7 T7-37 TF TAFT ¥ars 7t Zam, #4ih
(a) TF(T & FEFA FT A7 @ T AT T TR 2T E

(b) TRf *F TETEAT T HLEAT AGT BT T-T &

(c) =Tt T ATF e &Y A2 92T

(d) 9T | |1 FF ST TAT

Q144. TS A foTH & 10 747 2T 872
(a) sTfer® Hed F7ar 2

(b) I HHTEAT FHT TLEAT HLAT §

(c) Afery wH T8 Jerar g

(d) YT HHTEAT FT Tgd HAaT g
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Q145. FTHF &l FHATT, AT AT THIOT I FAT [HHL FdT 872
(a) STHIds HETLAT T HaLT

(b) YT HATLAT sl T

(c) I HATLAT T HLEAT

(d) S |sft

Q146. TS 7 FoFer 9% AT fa=m?
O GERIEIREETRRES

(b) TITRfdH HTET TT
ORIBEEIEIR IR GRS

(d) srenfRrs e ux

Q147. TATLT % ATHTT FHIA-AT [FHTH T 4T TRl 7
(a) WITA ¥aT T SAT ST

(b) THTITF FT T FAT ISTAT

(c) smeATicaeh T T ST IS

(d) =T =q< 7 AT IoTHI

Q148. =TI & ATHTL Fgl ST Tl g 6

(a) T T Fl dgd FF TR 20 &

(b) THT T AT FI STER-FTET el a9 31T FAASAN ©
(c) AST VT STGTLN T STTereh HLLT0T hedl o

(d) AT FT TFHA AT ST T TANT HF-THARL HLAT AT 0

Q149. o7 9158 § TF TIT FT TANT AGH gl qHaT?
(a) A1

(b) et

(c) TAFTH

(d) &1

Q150. Rt & & r9-971 |47 953 gl &7
(a) AT

(b) Trefistr

() B

(d) W
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